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20000 ÷ 10 = 

3254 ÷ 100 = 

235 x 10 = 

7456 x 100 = 

63478 ÷ 100 =

10000 ÷ 100 = 

230 x 100 = 

63250 ÷ 10 =
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Draw counters to show the numbers in the place value charts.

a) 5,241

b) 52,410

©) 524,100
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° Make these numbers in a place value chart.
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@ \Whot numbers are represented in each place value chort?
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Use some of the digit cards and the clues to work out the number.

o] 3] [a] [s] [s] [¢] [2]

The ten- thousands and hundreds columns have the same digit.

The number has 6 digits.
The ones column is 7.
The hundred thousand column is 1 less than the ones column.
What could my number be?

Are there more than 1 answer?
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